11, che & Cube

Dice

Dice 15 o three dimensional figure with ali of its surfaces nurnbered W are « siving below few: poonertios of {ice
which will heln candidates :2 solve variaus protie: s an Dice

Category-I
Ex.  Adice has been thrown four imes and moduces followng res.dts. Which raghber wi appear onnaostee to the number 32
o /] 3 2
3 i 5 1 3 6
{i) {ii) (it Yl
(1)4 25 (310 (4) 1

Sol.  From the fupres 7 (i) and ‘vl we find thai numbers 6. 1. 5 and 2 appear on the 2diacen: swufaces io iy
numoer 3. Therefore. number 4 will he opposite to number 3. Hence. option {1) is the correct answer

Category-I1
Ex.  The fhgures given belcw show the two different positions of a dice. Which number will arnear ODPOSite 1,
nu'noer » A . o L -
1 5 S
3 2 A 4 6
_ , i - 7 {i1)
(13 214 35 . )6

Sol. The above question, where only two positions of a dice are given, can easily be solved with the foliéwingmethod.

3
|'s

- L

Fig. X

Step-1 The dice. when unfolded, will appear s shown in Fig.X

Step-li Write the common number of both the dice in the middle block. Sznce commen number is 4, her 'ce

» number 4 will appear in the centrai biock.

Step-ll  Consider rhe Fig. (i) and write the first number in the anti-clockwise direction of nu'nb«:_r 4, (cr v
number] in block [ and second number in block II. Therefore. numbers 3 and 2 benip ihe Fre and
second number to 4 in anti-clockwise directions respectively, will appear in blocke tand 1. rospechven,

Step- IV Consider Fig. {ii} and write first and second number ir-the anti-clockwise directinn to- number 4,
{common number) in block Il and IV. Hence, numbers 6 and 5 will appear in the blocks Il and 1V,

respectively.
Step-V Write the remaining number in :l;e rerr‘ammg block. Therefore number 1 wxﬂ come in the ;emamihq

block.
Now, from the unfolded figures we fmd that number opp051te to 6 is 3, number opposrre to2is 5 and ﬁumber

opposite to 4 is 1. Therefore, option (3} is the correct answer. , S
1. Adice has six surfaces and all of them are numbered from 1 to 6. : g
2. - If the surfaces cf dice are unfolded and placed ona plane, the ﬁgure of dxce SO obtamed will look
like one of the following fxgures . o
"Forml In this case
1 lies opposite 5 ;
E 2 lies opposite 4 ;
3 lies opposite 6;
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Form I

In this case

‘"“l“”"’

Form Hi

1 lies opposite 6 :

2 lies opposite 4 ;

3 lies opposite 5.
In this case

1 lies opposite 4 ;
2 Iiés opposite 6 ;
3 lies opposite 5.
l;n this cz;se‘ }

1 lies opposite 4 :
2 lies opposite 5:
3 lies opposite 6.

In this case

- 1lies opposite 3 ;

2 lies opposite 5 ;

lies opposite 6.

CUBE

Ex.1 Count the number of blocks in the given solid.

(1) 24
-Answer: {2}
Explanation:

Each laver (say top most) of the

'/.

(2) 36

There are 3 identical layers in all.
 So, the total number of blocks = 3 x 12=36

t

348 -

solid contains 12 blocks.



EXERCISE

Direction (Q.1 to Q.8) : In each of the following questions, £ :

> TOUr it H
have to see these figures and select the number opposite tq, thep:us;hn:eli Zit::ksa;e dxce:a\;e :een shown You
1. Which number is on the opposite surface of number 3? edin each of the question.

3 3
f 1 L2 7 4
5 6 3 1 6
W i @
i
o 26 3)5 M
2. Which number is opposite to number 1 ? o
S
: 2 LT o
6
s |° p |2 Ha S [e
(i) (ii) (iii) . )
i
ﬂ 26 3)2 M
3. Which number is opposite to number 5 7 © v m i e e -
o .
. : (1 3
| 2 f 2 L5/ 6 N
i 5 |
’ ' @ (i) (i -
Lie as o " s
4,  Which number is opposite to number 2 ? S -
RN
6 4 S
A . L5 7 6
2 2 3 1 5
@i ’ {ii) (i .
(14 (216 M w (4)3
5.  Which number is opposite to number 57 , , !
' 2 6
7 ) CF (7
. 4
(i) (i) (iii) o
14 2)6 1%
6.  Which number is on the opposite surface of number 3 ? , / R
- . ) 6 \
A 2 %
3 2 3 6
R —
2 @3 " e
7. Which letter will be opposite te letter D? o k
E C -
C ‘B
A D c A
/i} (}) (kl) ( e ,"':
- i) 7
WA @B - "




8. Which :é’yﬁ'zbo! will come opposite to symbol +

+ - o 0.
x = - A : - A N A =
) (ii) {iii) (v}
e @- (3 @a
5 4 2 S
9 ; i L
1 2 6 2 ZwY
(B (ii)
Which number will come opposite to number 2 ?
(15 ' @1 36 N
10. Which will be the number at the bottom, if 5 is at the top?
1 /1 6 _ :
) "'(2’2‘. 4 2y - 2. 3 . R
33 ‘ _ , :
: 46 {) ‘ T (i) :
11. On the basis of two figures Of dice, you have to tell what number wi!l be on lhe opposite face of number 5 ?
Sy oA /55
@3 1) [ s
N L 364 .
@5 g4 {il) -

12. What should be the number opp051te 3”

M1 :

(3)5° @ @ Ry

@4 O (i)
13 ‘What i I the number of dots on the face opposnte to that containing 2 dots7

14, The different posmons of a dlce has been shown What dlgxt will be opposute to -digit 4 ? » '
me " N7 @5 w2

Directions (Q.15.to Q.17): In each of the foﬂowing questions, the second die is oblainea by rotating the -

first die honzontally to right by an angle of 90°. Observe the dice and. answer the qxestions “

'15.:,'1‘!1efacesofﬂwisd1esho.vnmnbersl 2.3 4 5and 6. Nmberonﬁxefaceopposﬁetoﬁlefaceshmngtlis
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17.

18.

19.

20.

J”;éor}f CTw@E - @F - o@C

The faces of this die show symbols A, #, #, X, T, and O. Symbol on the face opposite to the face showing
Ois

(1} A {200 or X \9/#” (4) X
The faces of this die shows letters A, B, C, D. E and F. Letter- on the face opposite to the face showing
the letter C is : : .

P
A _ #

D

(1) F ‘ (2 E 3B - M EorF

Directions {Q.18 to Q.20): In each of the following questions, the second dieis obtained by rotating the
first die vertically to right by an angle of 90°. Observe the dice and answer the questions. .
The faces of this die show numbers 1. 2, 3. 4. 5 and 6. Number on the face opposite to the face showing =

1is

(14 26 | BVS/ @2

The faces of this die show symbals 4, #, *, X, [ and O. Symbol on the face opposite to '-(he face showing
Xis : o

mo - @o - B NI o
The faces of this die show letters A, B, C. D, E and F. Letter on the face opposite ‘tqthe face showing the

letter B is




21. Choose the box that is similar to the box formed from the given sheet of paper (X).

1. c cr B
ogss foo
A{E
oI I I
ol LB ey B [
™ ) 2 NE) @
{1} 1 only (2) 2 only (3) 1_and30nly (4)1,2,3and 4

22. How many dots lie opposite to the face having three dots, when the given figure is folded to form a cube?

£

(X X
LAR
W o~

\
2

AVA

W (2) 3 dots (34 dots «{4y6 dots

Direction (Q.23 to Q.30) : Count thé number of cubes in the‘ given solid in each of the following questions. .'

@7 ﬁ%/ | ws

- 24,

25.

@15 o ayﬁ\ @2

@13 S @e '@%«(



£ 7]

(1) 18 ‘ C (216 : L @12 : 11

28. Count the number of cubes in the following figure.

27.

(1) 16 {2} 20 {4) 28
29. How many unit cubes are there in the figure?
(1) 52 ) {4} 56
30. Number of unit cubes in the given figure is .
(4) 28




Important Notey -






